Math 1313 Section 5.4 Extra

Section 5.4 Extra Examples

xS~ An urn contains 6 blue balls and 5 orange balls. In how many ways can we select 4 blue balls
and 4 orange balls from the urn?
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‘6"'1' In how many ways car-)e chosen if 12 cards are chosen from awell shuffled deck of 52
playing cards?
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e\,(/s A business organization need

8 member fundraising committee. The organization
has 6 accounting majors an

In how many ways can the fundraising committee
be formed if at least 4 account majors are on the committee?
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Math 1313 Section 5.4 Extra
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E_"/ A firm has 27 senior an(_)artners. A committee of three partnersis selected at random
to represent the firm at a conference. In how many ways can at least one of the junior partners be
chosen to be on the committee? e Use Mo Cow pla.u-'\’
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\-?’%{ A classroom of children has 19 boys an(-s in which five students are chosen to do
presentations. In how many ways can the five students be chosen so that more girls than boys are

selected?
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An electronics store receives a shipement of 37 graphing calculators, including Sthat are
X~ defective. at random to be sent to alocal high school. How many
ways can at |east 4 defective calculator be chosen to be sent to the high school ? Should one use
the complement to solve this problem?
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Popper 5: A committee of 16 people, 7 women and 9 men, is forming a subcommittee that is to be

made up of 6 women and 6 men. In how many ways can the subcommittee be formed? How would
you set up this problem?

C(16,12)

C(7,6)*C(6.6)
C(7,6)*C(9.,6)
C(6,6)*C(9,6)
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Math 1313 Section 6.1
Section 6.1: Experiments, Events, and Sample Spaces

An experiment is an activity with observable results (outcomes).

A sample point is an outcome of an experiment.

A sample space is a Set consisting of all possible sample poifincexperiment:” O aigerse
A Finite Sample Space is a sample space with finitely many outcomes.

An event is a subset of a sample space of an experiment.

Given two events, E and F:
Theunion of E and F is denoted /U F.

Theintersection of E and F is denoted /0 F.

If EnF = @ then E and F are calledutually exclusive. (An event is mutually exclusive also means
that two events that cannot happen at the same s$ucé as getting a head and a tail on the sara@fos
a coin).

Thecomplement of an event i€ and is the set of all outcomes in a sample spategmot in E.

Example 1: Consider the experiment of tossing a die. 1
a. Describe the sample space, S, of this experiment :
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b. Let E be the event that an even number is tamsed- be the event that a prime number is tossed.
Describe E and F in set notation then find theofeihg:

s § 24,03 F-32,3,5%

EVF = = iq_; s..aq_,gjb?
&uﬂ-m-.uui;_

EQF = ‘i ~y _3

T A (DinnadA

Ee= Navia © = ':1 \ -5‘5-‘3
A .
(EUF® ) = A?rlg O Morgn~ s Lowv = |2 AN -
- 3, \, }J“f‘_‘ /\ i 19_53 3—5 1



Math 1313 Section 6.1

Example 2: A sample of 3 apples taken from a fruit standxesneined to determine whether they are
good or rotten. The.sample space S = {GGG, GGR, GRR, RGG, RGR, RRG, RRR}. Let E be the
event that at least 1 apple is good and let F devent that exactly 2 applesiare rotten. Finctsats.
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Example 3: An experiment consists of selecting a letter atloaim from the letters in the word
COMMUNICATION and observing the outcomes.

a. What is an appropriate sample space for thisreaxent?
8= § ¢ O_M,0,Nv, T, AT
b. Describe the event “the letter selected is aaldw

F = 2 DJ\)JEIA.s

Example 4: Describe a sample space associated with the exgrariohtossing 2 fair coins.
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Describe the event of having the same outcomeaoh eoin.
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Popper 3: Given the following sample space, describe the event of selecting a prime number.
§=1{1,2,34,6,8911,12,15,16,18,19, 20}
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